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K&l W mFELm W X8

MR (YRS T S | ) ( 501-01 ):

(R4 ) A ]
23 H g s/ 8| sr9l enal| w2al s | or 8107 93| 12721 1729 2/ 9| 3/19
& - piAEE $emenhey | 11:30 | 51:00 {11340 [ 11:35 | 11:30 [ 11:40 | 11:45 | 11220 | 11:45 | 12:55 | #1115 11245

B A B ] ] L -3 % | % il s i = % |

= #1 C 17.0 18.0 13. 20.5 26.8 24.4 16.§ 13.5 6.8 3.0 1.0 9.0
— % - SR 14 13.9 154 24 2w 1g 1 e 2.4 2.0 4.2

5 - o6 o084 o6 o082 o067 o057 06% 082 090 0300 06 052

an =| - 191l 191 19y 1oy 1oy 1sk isy sl iey 19y 19y 19l

i & | w/S :

FELIE -
ﬁ INg:-.K:9:4 om
B ¥ REUkEE m
&2k & m _

] % m 1.4 49 s5d 5.0 4.4 3.7 4.9 2.4 2.5

HF X A/l <0.005 <0009
2 I 7 Ymg/ R N.D. N.D.
1EH O e N.D. N.D.

i 4 | ng/ R <0.05 <0.05

sL(cH) |we/l <0.02 <0.02
H# ¥ mg/ 2 <0.02 <0.02

82 Kk HeQ <. 0009 <,0004
Bl7 148k $8 s/

P C B| mg/ 2 N.D. N.D.

P H - 74 7.4 68 84 839 174 7.4 83 1.8 7.4 7.4 7.5
% D 0| mg/ 8 g.d g7 84 84 7.7 79 .4 9.4 10 10 11 1%
#B O Djmg/ 0.8 049 o7 <05 0.8 <0.5 <0.§ 1.0 08 09 -0.8 0.7
WMC O Dlm/R 3.0 224 1.4 24 1.4 1.4 1.9 29 1.8 2. 1.5 2.3
#s  s|mp 3 o o o o o« o« g o« A 3
18 K BE B IE ¥ HeN/100md 0.5801) 0.2E03 1.2601] 2.3E01] 2.4E02 2.4E03 9.4E01| 2.4E02 1.1E0 1.3E01 0.2E01} 0.5E01
Bin—Hex ng/ R ‘

&2 ® Ew/l 0.14 o0.t1d o0.0d 0.33 o0.14 6.0m 0.13 o0.19 o0.04 0.28 0.11 0.18

& Hi mg/ 0 "0.006 0.008 0.007 0.009 0.008 0.007 o0.010 0.007 0.003 0.008 0.00§ 0.007

Tx =N | mes R .

§R mg/ R 0.0! <0.01
5 | ey 0.01 "<0.0]

S WY o/ <0.1 <0.1] -

TNy (ERRYEX v/ R <0.04 <0.05
Wy o dm/@ <0.01 <0.01

7 0w B m/R <0. 15 <0.15

FUETT M EE 2 mg/ <0.01 <0.01] <0.01] <0.01] <0.01 <0.01 <0.01 <0.01] <0.0ff <0.01f <C.01| <0.0i

IR 3¢ X me/ 0 <0.001| <0.001 <0.001] 0.003 <0.001( <0.001} <0.001| <0.001] <0.001| <0.001{ <0.001] <0.001

WM MR R me/ R 0.169 o0.003 .0.014 0.237 0.029 0.03% 0.049 0.008 0.008 0.08% 0.02% 0.053

B KR el <0.00d 0.003 <0.003 ©¢.004 ©0.008 0.004 0.003 0.003 0.00F <0.003 <0.003 <0.003
Bla B S{m/@ 0.02 '

% ®  # uSiem .8 75.94 75 77.6 75.4 5.1 8.1 B2.§ 83.8 86.00 84.69 84.2

3] Bl mg/ D ) ‘ '

EXEA AL g/
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ARk ROk E W E R R R

K& O® O oM CEFEIE O L R om
M (tai—&S) oo o @ D ( 502-01 o

‘ DERAE) : . [ AA ] '

= H H 5/ 8| 5/19| 619 24y 8711 9/ 8| 10/9| 11/13{12/21| 1/31| 2/ 9| 3/19

S BHEEE IREEH | 13:10 [ 13:20 {13115 { 13140 { 13725 ['10:41 |13:45 | 13:22 | 13:20 { 13100 | 13:25 | 13:30

x |l - o B F OB OB OB o OB K] T M| e

= B T -21.0 17.§ 13.0 29.0 26.5 .20.4 2t.d 16.0 5.0 -0.8 2.0 12.5
KX | T 15.0 14.4 17.9 23.2 20.4 23. 198 1.4 7.0 1.4 2.9 6.7

S i, - 064 0624 062 062 064 - 062 182 067 060 060 067 052
P = - 192 194 193 192 197 193 183 192 19F 197 194 19

A & |wss '
mH | EmuE -

I §- %91 cm
Ei| #] Rk m

2K & m ]

73 % B EE m 4.4 69 44 58 640 41 40 227 319 7.9 1.8

BE XY N <0.005 ' «0.005
My 7 YR M.0. N.D.

H# OB Mol N.D. N.D.

b £ ng/ 9 <0,05 <0.05

S0L{G{E) |me/R <0.02 <0.02
I # ¥ g/ R <0.02 = <0.02

o1y 7k 5 wg/ R <.0005 <.0005
B7858 K e/

P C  B|m/f H.D. . N.D.

P H - 7.4 80 84 94 89 83 79 79 7.4 .9 7.9 7.5
¥ D 0| mg/ 2 8.1 9. 9. 93 82 8§ 82 9.4 11 10 1l 9.5
#B O Dlmg/R o 0.4 2.3 1.0 07 <0.8 0.9 17 14 0.9 1.9 <0.§
HC O Dlm/f 3.0 324 4 28 1.7 (8 28 3§ 23 2i 3.0 1.9
1S S|mg/R <1 1 3 1 i 1 E: 4, <l 3 1

o8B W Bt B HPN/100T 1.3E01| 0.5E01f 2.4E02 3.3E01} 1.3E03 1.3E01] §.6E03 7.9€02 7.9€0)| 2.3E0) 2.3€01| 4.6E0}
Bln-Hex mg/ £

2 ¥ e/ 0.30 0.9§ 0.4 0.33 o0.29 0.3 0.37 0.4§ 0.44 0.3d 0:60 0.3

2 mg/ £ 0.015 0.018 0.017 0.005 0.00§ 0.007 0.00§ 0.01§ 0.0i5 <0.003 0,008 0.003

Jr/—NE [mg/ L T

§H mg/ £ <0.01 <0.01
HE i mg/ R <0.01 <0,01
O ECE W e/ R <0.1 0.1

WY GERHEY mg/ 2 <0.03 <0.03
WMy o Lag/f <0.01 <0.01

7 v Beg/f <0.15 <0.18 .

TUETY i B B mg/ 2 <0.01| <0.01 <0.01f <0.01 <0.01 <0.01 <0.01 0.0i0\ <0.04 0.010-<«0.0] <0.01
T EERRME 2 Wee/ R 0.004 0.003 0:003 0.003 0.003 0.004 0.004 0.00§ 0.002 0.0024 0.001 0.001

BBt me/f 0.259 0.221] 0.213 0.242 .0.250 0.364 "0.258 0.240 0.206 0.230 0.225 0.231
B O e/ <0.00% 0.003 0.004 ©.003 0.005 0.003 0.003 0.028 0.005 <0.003 <0.003 <0.003
BlA B S|m/2 0.02 ' ' <0.02 :

# & # pS/em 133 139 141 139 128 I3l 129 - .128 126 1 2§ - 120

b B mg/ £ )

EER A A m/R
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N0 H KB KH M ERRE

TEELMM i RO
MR 2t EH—HS) oMM ik ( 502-51 Y
5 LB L A4 1 .
4 B H s78] 5719 6419 7720 8741 | 9/ 8|10/ 9| 1113 | 12/21] /31| 2/ 9| 3/19
2 flEmEg $2EBss | 13:00 13210 | 13210 | 13:35 | 13:30 | 10:46 ] 13:40 | 13:20 | 13:25 | 12:50 { 1315 | 13:2§
= ®| - A # | % | & .| B8 B 7 3 5|
- #| a1.d 17.8 13.0 20.00 26.8 25.0 20.8% -16.00 8.0 0.0 2.0 12.9
— %k H#1 C 1s.1 15.0 17.0 23.4 24.84 22.3 19.d 154 7.2 1.4 2.0 8.5
| 9 wl - 067 - 067 - 063 06% 064 062 187 024 060 060 Q0N 052
BE ol - 1ed 1924 197 192 182 193 183 1927 194 19y 193 192
e B | m/S '
RERE -
nE WK em
B| #f REUKE m
2 K& m
3% R m 5.9 - 69 40 59 60 42 27 2.4 4.4 7.8 5.
HF XY hing/f <0.005 <0.005
vy 7 Y mg/R N.D. N.D.
7 B e N.D. N.D.
% ng/ <0.05 <0.05
2O L(6H) |me/R <0.02 <0.02
it ¥ me/ R <0.02 <0.02
2k Beg/l <0004 <.0004
g7 060k 88 ne/f
P C B| mg/ £ .
P Hl - 74 g1 848 9.4 "6 85 7.9 771 1.4 74 7.8 1.5
1H D Of ng/ 0 g.d 84 92 93 81 83 7.9 87 9.5 10 1 9.9
B 0 Dime/f 0. 0.8 1.2 0.1 0.1 <0.% <0.§ 2. 1.8 0.5 0.7 <0.9
BRC 0 Dim/Q 3.0 28 28 3.0 17 2.0 1.9 3.2 3§ 2.0 29 "2.5
3 s S| me/ 8 a « 4 o 9 4 4 <« 2
H A B & 2 ¥ MPN/100mg] 0.7E01| 3.3E01) 2.4E03 3.3E01) 5.4E0 7.9E01] 1.6E03 2.4E03 1.1E02 3.3E0) 1.6E03 4.9E01
Bln—Hex mg/ @
2 B Fr/p 0.2 0.30 0.31 6.29 0.28 0.3 0.3 0.37 0.40 0.33 0.29 0.3
2 ] ng/ 0 0.01d 0.017 0.014 0.00d ©0.008 ©0.007 0.008 0.017 0.0iF 0.003% 0.01F 0.005
FTx )N | me/ R ‘
| mg/ <0.01 <0.01
= i $ mg/ R <0.0} <0.01
BECB R m/ R <0.1 <0.1
Wh™Y CRIREY me/ £ <0.08 <0.08
7 0 Ahlmg/f <0.01 <0.0][’
7 v FHoee/R <0.15 <0. 15
AT MR e/ <0.01l <0.01 <0.01] <0.0% -<0.01l <0.01 <0.01] 0.020 <0.01] <0.0]] <0.01 <0.0%
o R = % ee/f 0.004 0.003 0.003 0.003 0.003 0.005 0.007 0.005 0.002 0.004 0.003 0.002
B e/l 0.289 0.219 0.261 0.229 ©.267 ©0.379 0.24%8 0.232 0.180 0.214.0.23) 0.223
o e e 0.004) <0.003 0.004 0.003 .0.005 0.005 0.003 0.00§ 0.005 <0.003 0.00§ <0.003
B A B Simg/ 2 0.02 <0.02 .
i ®  H pS/om 1t 141 1ed g 134 13 130 131 128 - 122 124 119
& Bl mg/ '
FE PR L D
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A # B Kk KKHEMNEERSH

Kt & ¥ PiZriEmBs Lt B OB
R (MERE—ED) woOoM W D ( 503-51 )
[HRE] L - A4 1 '

X B H 57 8] 5719 6/21| 7724 8711 9/ 8{10/13{11/13 | 12/18 | 1/29) 2/ 8| 3/19

# WEEA IARESR) | 11235 | 12010 | 11025 11:50 | 12:00 | 11:40 | 13125 | 12105 | 11335 [ 1150 | 11:50 } 14123

x | - | o= o | o w| o w| o w m| B T OB| OB

2 ml C 2.4 14.71 15.d 28.0 2.0 24.0 6.0 11.8 8.0 2.5 3.5 12.2
— k #E| C 10.d 12.8 164 2.3 22.8 208 180 127 79 4.3 50 6.0
T4 | - osd o3 o8d o7F 072 084 064 180 072 0Y3 090 182
A s w1l - ol otif ou o1y - o1 ot on} oty 01y o1l 01t 11

M X | m/S R

IREVLHE -

nyE | K em

B| #A IRROKEE m
2 k& m

7% g m o1 83 o9d 124 10,8 60 93 l0o.5 1.0 g.o0 7.7

HE 2 b/ <0, 005 <0.005

vy 7 He? N N.D.

H wg/ £ N.D. N.D.

& wg/ @ <0.05 <0.05

> h(GHE |[=z/R <0.02 | <0.02
X ¥ me/ 2 <0.02 <0.02

#oK mg/ R <,0009 <. 0005
Bl78 %8k §8eg/2

P C Blmg/R H.D. N.D.

P H - 74 7.4 8d 7.9 82 81 832 B8 7.4 T 7.4 1.4
& D 0| g/ 2 94 9.4 8d 1794 7.8 824 8§ 9.8 9.3 0.5 10 10
#HB 0 Dlm/R .5 0.8 <0.5 <0.§ <0.§ <0.84 0.6 1.3 0.9 0.8 0.6 <0.5
WC O Dim/f . 1.1 L . nd id 1 o2y (b7 Ty L4 1.3
#'s S| me/ 2 P T R . | "< i o« 1

& B © 2 ¥ HPN/100.d 0.2601] 0.5€01| 1.3E01] 0.8EG1| 2.4E02 9.4E01) 3.5E02 3.5E02 2.3E01) 7.9E01) 0.2€01 0.2£01
Bln—Hex me/ R

£ % ¥l 0.16 0.1 o0.1d 0.26 0.23 o0.20 0.2 0.27 0.23 0.47 0.3) 0,27

% Y4 me/ 2 0.00d8 0.015 0.01§ 0.003 0.003 0.00% <0.003 0.008 0.004 0.003 <0.003 <0.003

Jx/—ME |mg/ ' '

$H | mg/ R <0.01 - <0.01

i f #1 mg/ R <0.0} <0.01]

BOHEME Iw/ L <0.1 <0.1

Y (MY ma/ 2 (.05 <0.05

¥y o ANwe/f <0.01 <0.01

7 v e/l <0.15 <0.15

FURs7 2 X me/ 0 <0.011 <0.01 <0.01|- <0.04 <0.01] <0.0%f <0.01] <0.0i <0.01 <0.0Y <0.0k <0.0i
YH ERERYE RO wg/ L o.001] 0.001 0.002 0.007 0.003 0.001 ©.001 0.001|<0.004 0.004 0.001) 0.001

WEEEEmL 0.121 o.124 0.131 o.18d o.18d o0.199 o0.209 0.191 0.164 0.219 0.206 0208

% OB M ng/ P <0.003 <0.003 <0.003 <0.00§ 0.004 0.003 <0.003 0.003 <0.003 <0.003 <0.003 <0.003
B A B Slme/ 0 0.02 ‘ 0.02

¥ B # uSlem a1.4 86.0 86.3 85.8 79.8 80.§ 8l.4 84.8 83.8 83.3 8.7 88.1

& B mg/ R '

AL A el
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£ H B X KHEMERRR

Pl _ DIFEERMN W B o=
il-C e ot S O M W o ( 504-01 )
[E5:LE L A ]
= B B w78l 57194 6721 | 720 | 811 or 810712 11/13 | 12218 | 1/29| 2721 | 3719
2 WER $RERES%) | 13:40 [ 10:55 | 13:16 | 13:55 | 11:20 | 13130 | 10150 | 10:45 | 13:30 | 10:50 | 15:00 [ 10:55

x . &’ - [+ 3 i B 0 L w 3 a 1 [ B

- BT 6.4 18.d 16.§ 254 25.3 27.0 16.d 12 8.0 3.0 8.8 109
— K - R 15.24 151 17.4 25. 25.0 22.2 14a.8 12.4 5. 1.5 6.0 9.7

#. B - 157 184 183 o059 o054 057 183 183 18 189 o0l 232
e =l - 1o sl o1 1o tenf 19y e o a9y 19y 1| 191 191

A & | m/S
|| IRENfE -

NE% B E cm
ol #y spmokEE m

£ Kk &E m

3% K m 1.7 20d 28 2.8 40 2.8 50 4.0 3.5

R - AL <0.009 <0.005
Yy 7 Y wgll N.D. %.D.

H B e/l R.D. N.D.
25| -5 mg/ <(.05 <0.05

SL(BiE) [mg/f <0.02 <0.02
TE) W = me/ L <0.02 <0.02

I S L <000 <0008
87858k ne/ R :

P C Blm/g N.D. . , N.D.

P H - '8d 8o 8§ 97 83 8d 74 78 774 T4 T 7.5
D 0| ng/ £ s 89 9. s8dg 77 8d 7. 84 84 10 o9 9.9
B O Dlwg/@ o0 14 294 1.9 1 o7 18 1.8 1.4 1.4 1. 1.0
lHc O Diag/f 3.4 28 3 38 1.9 1.§ 249 =24 2. 1.4 2.8 2.
B S S| me/ 2 5 1 94 4 f <« < o 4 4 < 9

X BB & T 8] HeN/100-d 1.7E01]-1.7€01] 3.3E01] 3.3€01 7.9€0)] 1.8E02 4.8E01 1.4€01| 0.4E01] 0.2€01) 0.4€01| 0.5E01
Bln—-Hex’ mg/ P ' )

£ B Heg/l 0.11 o.1d o.25 o.4d o0.21 o0.28 o0.44 o0.50 0.48 0.50 0.99 0.52

2 we/ g 0.013 0.01d 0.020 0.019 ©.012 0.010 ©.008 0.018 0.0if 0.008 0.008 0.013

T =L | ne/ 0 '

i mg/ <0.01 <0.01

i 8 mg/ R <0.01 <0.01

SR Bt me/ R <0.1 <. "

WKy Rk mg/ 2 <0.05 <0.05
ey 1 blaelR <0.01 <001

i W 4 mg/ 0 <0.15 . <015 i

7oe7 ¢ 2 2 mes @ <0.0il <0.01 <0.01] <0.01] <0.01 <0.01] <0.01] <0.01 <0.0H <0.01 <0.0} <0.0l

ERRYE B % mg/ R <0001 <0.001] 0.001} <0.001] 0.001 ©0.002 0.004 0.007 0.004 0.00% 0.00% 0.001

B OBt T es/ R 0.001l 0.004 0.01d 0.033 0.029 0.256 0.267 0.229 €.208 0.410 0.428 0.31§

OB R M es/L 0.00d4 0.006 0.00d 0.007 0.007 0.0058 0.004 0.005 0.005 <0.003 <0.003 0.005
BlA B S|leg/@ 0.03 0.09

M B #H uSm g3.d s1.2 849 s2.d 79.9 73.9 2.1 87.8 88.1 89.8 78.7 84.5

4k B wg/ 0

B F meglf
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EEE R

N E KB KR ERE RS

VIEIHYET - b R OB
HaaEaR—&S) = & ¥ ¥ D ( 505-01 Yy
4 R [ AAA4 ]
= A g 5/8| 5719 6/21| /24| /11| 9/ 8|10/13 [ 11713 | 12718 | 1/29| 2/ 9| 3/19
5 WEHE spmebss) | 10250 | 11:25 [ 10:44 | 11:05 | 10:50 | 10255 [ 11230 | 11230 | 10:50 | 11115 | 11:05 | 11:35

X | - L -3 L] B 54 23 " ] 1 | & ]

® #1C 15.0 18.d 21.4 27.§ 26.4 24.04 162 10.§ 9.4. 2.0 67 12.0
— K m T 12.0 12.4 5.4 2.8 23.8 22.4 17.0 13.4 s8d sS.0 6.0 7.0

e o - o8d o014 o9 o093 o037 06 oo 099 232 087 090 - 050
£ 5 w1 - oif  onl o1y o1 o1y oty o11l o1yl  ofyf o1 o1l o1t

A & lm/S ‘ ' '

WO EEGE -
P IMERE | o
By ¥ IREOREE m
£k & m

HEWE |m 1. o.d 12.d 10.8 11.q 5.0 12.9 11.8 11.8 14.0

HE XY Aing/R <0005 <0.005
My 7. AR N.D. N.D.

" OK B N.D. N.D.

] § wg/ <0.05 <0.05

oA(6i) |me/f <0.02 <0.02
] 2 wg/ 0 <0.02 0,02

2 ok iHee D <.0005 <. 0005
H783%8K §Eag/l ]

P C B{mg/l H.D. N.D. )

P H - g9 7.7 74 4 24 8 79 79 7.9 1.4 1.3 7.3
# D 0| mg/ 2 9.1 91 87 83 79 .4 83 84 9.0 9.7 10 10
B 0 Dlmg/l <0.§ 0.5 <0.5 <0.§ <0.5 <0.8 <0.8 0. 0.7 <0.5 <0.§ <0.§

C O Dim/ .4 1.4 1.0 1§ o9 1 1. 1.4 1.3 07 07 0.6
# s S| g/ 0 < <] < < < <1 <] <~ < <] <] <]
o & BB P M MPN/100wd 0.0E0I 0.0E0I[ 0.0E0| 0.2€01| 0.0ED]| 5.4E02 0.2E01| 0.2E01| 0.0E01| 0.CECI| 0.5€01 0.0E0]
Hln—Hex ~ |mg/0 )

& F ¥/l 0.1 o0.19 0.1 0.13 ©.10 0.10 0.0 0.1 0.15 o.08 O.1] 0.1§

2 i me/ R 0.008 0.008 0.00% <0.00% 0.003 0.005 <0.003 <0.008 0.004 <0.003 <0.003 <0.003

Fx /) —IIE | me/ R - . :

| ng/ <0.01 <0.01
O § mg/ <(.01 <0.01

AR N/l <. 1 <0.1

WAy (R mg/ @ <0.05 <0.05
Wy t b mgs R <0.01 <0.0t

7 v Hwg/R , <0.15 <0.15

FACY tE B X g/ <0.01] <0.01] <0.01f <0.0l] <0.01 <0.01 <0.01 <0.01] <0.01| <0.01 <0.01 <0.0]

HEFRIRYE & % mg/ £ - 0.001 0.001 0.004 0.001] 0.001 0.004 0.001) <0.001| <0.001| <0.001 <0.00]} <0.001

Y 0.0827 0.084 0.089 0.1000 0.097 ©.115 0.08% 0.068 <0.001] 0.11§ 0.108 0.11§

OB KB el 0.003 <0.003 <0.003 <0.003 0.003 0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
BlIA B S{m/ 0.04 0.03

B B # uSien 47.4 47.0 47.9 47.9 48.0 44.4 46.1 46.§ 48.9 47.94 48.§ 49.2

b Elng/ @

EXE AL X ne/
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